






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120









Find the option which should replace (?)

1943 : Non-leap year :: 1700 : ?

A. Leap year
B. Non – leap year
C. Century year
D. Leap century year



Q In each of the following question, four numbers are given, out of 
which three are alike in some manner while the fourth one is different. 
Choose the odd one.
(A) 16-64 (B) 17-68
(C) 20-100 (D) 21-84

EXAMPLE

प्र.निम्ननिखित में से प्रते्यक प्रश्न में, चार संख्याएं दी गयी हैं, नििमें से
तीि एक िैसे हैं, िबनक चौथा एकअिग है। नदए गए निकल्पंमें से
निनिन्नका चयिकरें ।

(A) 16-64 (B) 17-68
(C) 20-100 (D) 21-84



Find number of triangle in the given figure ?
दी गई आकृनत में नििुि की संख्या ज्ञात कीनिए?

(A) 13 

(B) 22 

(C) 24

(D) 16
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Find the  missing one (?)

4 : 32 :: 8 : ?

(A) 11

(B) 7 

(C) 5
(D) 9
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Find the  missing one (?)

Bees : Hum :: Owls : ?
मधुमक्खिय ों: गुनगुनाहट :: उलू्ल:? 

(A) Roar / गर्जन

(B) Talk / बातचीत

(C) Hiss / फुफकार
(D) Hoot / ब ली
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Find the option which should replace (?)

(A) 11

(B) 12

(C) 10
(D) 13



Find the option which should replace (?)

SIT : 8 
TOY : 10 
VIP : ?

A. 11
B. 15
C. 16
D. 7



Three positions of dice are shown. What will appear on the 
opposite to the face containing O? पासा की तीि खथथनतयां नदिाई

गई है तप ज्ञात कीनिएकी ‘O’ के निपरीत सतह परक्या हपगा?
(A) # (B) +
(C) % (D) &
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Find the option which should replace (?)

JK : 87 :: RS : ?

A. 98
B. 109
C. 110
D. 89



Find the option which should replace (?)

4 : 71 :: 7 : ?

(A) 49

(B) 05 

(C) 51 

(D) 52



Find the option which should replace (?)

127, 63 , 31 , 15 , 7, ? 

(A) 2

(B) 3

(C) 5
(D) 4



Find the  missing one (?)

85 : 20 :: 139 : ?

(A) 124

(B)  117

(C) 180
(D) 109
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Find the option which should replace (?)

5 , 6 , 15 , ? , 89 , 170 , 291 

(A) 40

(B) 45

(C) 50

(D) 55


